Topic #4:
Geometry
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What is the area of the tiangle?

A 21 soare
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A square has the same ares a¢ the
rectangle. What s the lesygth of each
side of the square?
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Which of the i‘%}?imwmg_ statements best
proves that S XWY = LEYW T

A If two parallel lines are cut by a
iransversal, then corresponding
angles are congruent.

B. If two parallel lines are cut by a
transversal, then complementary
angles are congruent.

. If two parallel lines are cut by a

 transversal, then alternate interior
angles are congruent.

D If two parallel lines are cut by a
transversal, then alternate exterior
angles are congruent.




Short Answer Questions:

The disgram below shows a triangle and some of 1t measurements.
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The friangle has an arsa of 48 square centimeters. What is &, the height, in centimeters, of the
iriangle?

s
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wpratn below, rectangle MNPQ s similar o rectangle R57

In the

Mo N .

Haged or the grven dimer

The diagram below

What is k, the height in meters of the triangle?



Open Response Questions:
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Define x and y as follows:

¢ x = the width, in vards, of the children’s pool
* v = the Eéﬁgﬁh in yards, of the children’s pm?

a. Write an expression using x and y to represent the area of the children’s pool.
The adult pool has the following measurements:

The wmth of the adult pocl is 3 times the width of the children’s pool.
e The length of the adult pool is 2 times the length of the children’s pool.

k. Wnite an ex.p%*xz%z«;im zzszé.ng x and y to represent the area of the &-dait pool,

¢, What is th@ mim of the area of the children’ m@l o the -area {:}i thzé adult p»oc:iJ’ Show or
-.explain how you got your answer, ' ‘

Bmh of the p(j{} g m;k be filled with water. The depth of the aduit pm ig 4 timm the depth of
“the children’s pmi .

d. What is the mha of the volume of water in the children S poal to the miume ot water in
7 the adult"pool? Show ar explain how VOu got your answer.
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a. What is the perimeter, it inches, of the puzzle?

£ 8

ach piece of the puszle is |

= Pieces R and O are trapezoids,

& G are rectangles.

¢ B is a parallelogram.

it

ce Pois aangle.

T

Vhat is the area, in = inches, of piece R? &

d: What is the ares, in

- bBelow,

¥ i, -

Show or explain how you gol your answer,

; the area, in square inches, of piece B? Show or explain how you got your answer,
ow or explain how you got your answer.

are inches, of piece P? Show or explain how you got your answer.
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Multiple.Choice:
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What is the sres of the tapezoid?

A 9546 in-

D 3470 in s

A, 377 square centumeters

4

827 sguare centimeters

B
1 17%{21 square centimeters
D

J‘!

239 square contimeters
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Triangle & S'7T 'is the image of tnangle
RST after iriangle RST was translated
3 units to the right and 4 ums up.

What were the coordinates of pount £
before the transbation?

B. (5 7)
C.(=2,0)
Doi—=1,-1}
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What 1s the lateral surface a arca of
pyramid? '
A, 47415 sg. 1,
B. . 68440 sq. ft
C.. 94,830 sq. ft
D. 115,855 sq. ft
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Triangles GHJ and KLAM are congruent.
The tnangles 2 mﬁ some of their angle
TS ast wn i the diagram
below.

£ measures in the

Based on %h: a
-dé**gram, wlt'dt 15 s J(“H“}

A 30° i

B. 15° 1
C. 40°

D. 45°
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Based on the dimensions in the
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A& rectangle has s length of

15 centimeters and 3 width of

§ centimeters,

Which of the following 1s

closest to the radius of a circle
that has ar. arca equal to the ares
of the rectangle? '

A -3 centimetirs
B, 6 centimeters
C. 11 centimeters

19 centimeters
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Which of the following 13 closest to the
length of H? K

dem NC S

Based on the diagram, which of the
following is closest [e the volume of
the r’:amﬁ’ ‘ '
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Whick of the following relationships
- proves that lines § and g are paraliel?
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*mwhl @t {t*»., &s can is 3 times the
height. of the s h sm

What is the ratio of the volume of

the green -can 1o the volume of the
silver can? T
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Open Respornse Questions:

A Fower bed in the shape of 4 right triangle hus a circalar fountain m #. The fower bed and
some of it measarements are shown in the disgram below,

The perimeter of the flower bed 15 48 feet

a, What is x, the length in feet of the third side of the flower bed? Show or explain how you
pol VOUE SnSWUT,

b What is the ares, in sguare fect, of the flower bed, mcluding the fountain? Show or explain
hiow you gol your answer.
The circumference of the fountain ix Bx feet

¢, What is the radius, in feet, of the fountain? Show or explain how you gol your answer.

L

d. What is the area, in square feet, of the flower bed, not including the fountain? Show or
explain how you got your answer,




Iy as shown onto the grd moyear

Copy the coordinate grid and quadnlateral KLMN ex
Studeni Answer Booklel,

Ouadrilateral KLAWN will be manslated 9 units up,

a. On vour grid drew gquadrilateral KDWY, the image of guadrilateral KLAMN after it has
been translated 9 units up. Be sure o label the vertices.

Cuadrilsteral KLMY will be reflected over the p-

b On ovour grid, drew quadrilateral K°U°W N, the image of quadrilateral K'LAMN after it has
been reflected over the v-axis. Be sure o Jabel the vertice

v, Pxplain whether a 1807 rotation of quadrilateral KLAMN about the origin would result
vertices with the same coordinates as K LM N

Quadrilateral KL"M N will be rotated 90° clockwise about point M to create
guadrilateral K "L"M N

4. What are the coordinates of point K77

14
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bottom of the ladder is 4 feet from the base of the building.
a. Write an equation that could be used to find x, the length in feet of the ladder.

b.

A second ladder that i3 32 feel in length will be leaned aga:

Building

Use the equation yvou wrote in part {a) to find x, the length, 1o the nearest tenth of & foot,

of the ladder. Show or explain how you got your answer,

¥

gt the same building. The botiom

of the second ladder will be placed 7 feet from the base of the building,

C.

What is the height, to the nearest tenth of a foot, of the point the top of the second ladder
will reach on the building? Show or explain how you got your answer,
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What 1s the measure, in degrees,
What is the measure, in degrees,
What is the measure, in degrees,

What is the measure, in degrees,

of
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£ Show or

- 237 Show or

4

257 Show or

£ 67 Show or
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explain how you got your answer.
explain how you got your answer.
explain how you got your answer.

explain how you got your answer,



